B Ed Arts SET B ARRANGED

1 ‘Inane’ is similar to:
a) Cryptic b) Tuneless ¢) Cretinous d) Shrill C Cretinous
2 His drawn face indicates his hectic schedule. In this sentence, drawn is associated with:
a) Grey b) Stout ¢) Dogmatic d) Elastic A Grey
3 ‘Dross’ doesn’t mean:
a) Raffle b) Offal ¢) Oafish d) Scrap C Oafish
4 I have never seen such an adamant person in my life. In this sentence, adamant indicates:
a) Tractable b) Froward ¢) Biddable d) Olio B Froward
5 He is not amenable to my thought. In this sentence, amenable means:
a) Refractory b) Obdurate ¢) Lamblike d) Recalcitrant C Lamblike
6 Which of the following is not a Latin Suffix?
a) Artist b) Punishment ¢) Circle d) Scholar A Artist
7 Choose the word which is closest in meaning to the word ‘Besmirch’:
a) Supplicate b) Spurn c) Denigrate d) Ribald C Denigrate
8 Daft decision doesn’t give fruitful results. Here, daft is similar to:
a) Dulcet b) Louche c) Asinine d) Euphonious C Asinine
9 She has euphonious voice. In this sentence, euphonious is not related to:
a) Dulcet b) Canorous ¢) Tuneful d) Enigmatical D Enigmatical
10 Hermetic art cannot be understood by many people. In this sentence, hermetic refers to:
a) Scoria b) Delphic c) Deft d) Imbecilic B Delphic
11 | Kailash Satyarthi has been awarded Noble Prize in the field of:
a) Litrarture ‘ b) Science ‘ ¢) Medicine ‘ d) Peace d | Peace
12 | Maldives Islands are situated to the South of _ of India.
a) Andaman b) Bay of c¢) Russia d)Lakshadwee Lakshadwee
Nicobar Bangal p Islands p Islands
Island
13 | What is the narrow channel of Sea between India and Sri Lanka?




a) Palk Strait b) Hormuz c¢) Bering Strait | d) Sunda a Palk Strait

Strait Strait
14 | The earliest kind of print technology was developed in:
a) Sudan ‘ b) China ‘ ¢) America ‘ d) Finland ‘ b | China
15 | The tropic of Cancer does not pass through:
a) Odisha b) Gujrat ¢) Jharkahand | d) West a Odisha
Bengal
16 | Mary has three children. What is the probability that none of the three children to be a boy?
a) 172 b) 1/3 c) 3/4 d) 1/8 d 1/8
17 | If the code of AGARTALA is written as 14168171, then the code for AGRA will be:
a) 1641 b) 1416 c) 1441 d) 1461 d 1461
18 | Insert the missing number in the following sequence:
3,8, 18,23,33,7,48
a) 37 b) 40 c) 38 d) 45 c | 38
19 | Three individuals X, Y, Z hired a car on a sharing basis and paid Rs. 1,040. They used it for 7, 8,
and 11 hours respectively.
What would be the amount paid by Y?
a) Rs. 290 b) Rs. 320 c) Rs. 360 d) Rs. 440 b Rs. 320
20 | What is the smallest number of ducks that could swim in this formation — two ducks in front of a
duck, two ducks
behind a duck and a duck between two ducks?
a)5 b) 7 c)4 d)3 d |3
21 | The concept of Work Study techniques includes:
a) Time study b) Motion c) Fatigue study | d) All of the d All of the
study above above
22 | Which of the following is not a designation related to middle level management?
a) Operations | b) Sales ¢) Chief d) Divisional c Chief
Head Manager Operating Manager Operating
Officer Officer
23 | The function of management relating to laying down the foundation for carrying out the other

functions of management successfully is known as:

a) planning b) organising | c) stuffing d) controlling a | planning




24 | Subscriptions received in advance during an accounting year is called as :
a) Liability b) Asset c) Expense d) Income a Liability
25 | When did the great depression occur?
a) 1929-39 b) 1934-35 c) 1938-39 d) 1941-42 a 1929-39
26 | Which of the following is the narrow measure of the money supply?
a) M2 b) M3 c) Ml d) M4
M1
27 | When was the minimum reserve system started in India?
a) 1947 b) 1948 c) 1951 d) 1956 d 1956
28 |Which of the following is the first Asian country to join NATO’s cyber defence group?
a) India b) South Korea| ¢) Sri Lanka d) Bangladesh b South Korea
29 |India’s first ‘“Tribal Health Observatory (TriHOb)’ has been announced by:
a) Madhya b) Jharkhand | c¢) Gujarat d) Odisha d Gujarat
Pradesh
30 |[‘Millennium Challenge Corporation (MCC)’ is an initiative of:
a) USA b) Russia ¢) China d) Japan a USA
31 |Which of the following Union Ministry launched the ‘iDEX’ platform?
a) Ministry of | b) Ministry of | ¢) Ministry of | d) Ministry of ¢  Ministry of
Education Tourism Defence Law and Defence
Justice
32 |Which of the following state is the host of ‘National Conclave on ‘Social Enterprises for Garbage

Free Cities’?

a) Bihar

b) Chhattisgarh

¢) Odisha

d) Gujarat

b

Chhattisgarh

33

Horse latitude is:




a) 5 -10 degree b) 10-23.5 c) 30-35 degree | d) 33.5-66.55 C 30-35 degree
latitude degree latitude | latitude degree latitude latitude
34 | Which of the following river of Africa does cross the equator line two times?
a) Kango b) Nile ¢) Limpopo d) Zambezi a Kango
35 | ‘Arakan Yoma’ mountain is situated in:
a) China b) Bangladesh | ¢) Myanmar d) Taiwan C Myanmar
36 | ‘Addis Ababa’ is the capital of:
a) Ethiopia b) Kenya c) Nigeria | d) Uganda Ethiopia
37 | ‘Bushman’ tribe is found in:
a) Kango Basin | b) Kalahari ¢) Amazon d) North b Kalahari
Dessert Basin Canada Dessert
38 | Which one of the followings is India’s oldest mountain range?
a) Arawali b) Satpurha ¢) Vindhyan d) Parasnath a Arawali
39 | ‘Manas’ national park is situated in:
a) Assam b) Arunachal ¢) Mizoram d) Meghalaya a Assam
Pradesh
40 | ‘Vishakhapatnam’ port is situated in:
a) Gujarat b) Andhra ¢) Maharashtra d) Odisha b Andhra
Pradesh Pradesh
41 | What is the composition of Oxygen in our atmosphere?
a) 17% b) 19% ¢)21% d) 29 % c 21%
42 | Culture is the process of developing thoughts, feelings and actions through:
a) Education b) Training ¢) Society d) Ecology a | Education
43 | Academic Bank of Credits (ABC) is emphasized by:
a) NPE 1986 b) POA 1992 | ¢) NEP 2020 d) NCF 2005 c NEP 2020
44 | Minimizing gender gaps is one of the goals of:




a) Primary b) Secondary | c¢) Higher d) Distance Higher
education education education education education

45 | Internationalization of Education is one of the goals of:
a) Higher b) Secondary | c¢) Primary d) Distance Higher
education education education education education

46 | M. K. Gandhi was born on : None is correct: in the option year - last

two digits are transposed.

a) b) c) ,
October4, 1896 | October4, 1869 | October2,1896 | October2,1796 October2,189

6

47

Integral Education was propounded by:

a) S.
Radhakrishnan

b) Aurobindo
Ghosh

o).
Krishnamurti

d) Annie
Besant

Aurobindo
Ghosh

48

One of the targets of NEP 2020 is to achieve 100% Gross Enrollment Ratio (GER) in

school education

by the year:

a) 2025

b) 2030

c) 2035

d) 2040

2030

49 | Which of the following constitutional amendment has added the word ‘Secular’?
a) 42 b) 43" c) 44" d) 45" a 42
Amendment Amendme Amendmen Amendment Amendme
nt t nt
50 | The Constitution of India derives its ultimate authority from:
a) People of India | b) President ¢) The Prime d) Supreme a a) People of
of India Minister Court of India
India
51 | The Council of Ministers are collectively responsible to:
a) Lok Sabha b) The ¢) The Prime d) Rajya Sabha | a Lok Sabha
President Minister
52 | Which one of the following word is not the part of Indian Constitutional Preamble?
a) Equality b) Liberty ¢) Nationalism | d) Justice C Nationalism




53

The President’s term of office is:

a) Three Years

b) four years

c) Five years

d) Six years

Five years

54 | Which one of the following languages is not part of Eighth Schedule of Indian Constitution?
a) Nepalese b) Assamese | c¢) Santhali d) Naga d Naga
55 | The book “Grammar of Politics” was written by:
a) John Dewey b) Harold J. ¢) John Locke | d) Aristotle b Harold J.
Laski Laski
56 | The Idea of Deconstruction is associated with:
a) Michel b) Coral Bell | ¢) T.H Green | d) Jacques d
Foucault Derrida Jacques
Derrida
57 | The word 'Veda' has been derived from the root word 'Vid' which means:
a) Knowledge a) Sacredness b) Doctrine c) Divinity | a Knowledge
58 | Mrichchhakatika was written by:
a)Akbar b) Sudrak c)Kalidas d) Banabhatta| b Sudrak
59 | During Alexander’s invasion to India, Taxila was ruled by:
a) Ambhi b) Porus c) Ashoka d) Bimbisara a | Ambhi
60 | Who of the following is known as ‘Vikramaditya’ in the Indian history?
a) b) c) d) ¢ | Chandragupta
Chandragupt Samudragup| Chandragupt Skandagupt -1
a-I ta a-Il a
61 | What was the name of mother of the Goutam Buddha?
a) Trisala b) Goutami ¢) Mayadevi d) Sardadevi ¢ | Mayadevi
62 | Kanishika belongs to:
a) Vikram era | b) Satavahan | c¢) Saka era d) Gupta era ¢ | Sakaera

€ra




63 | The greatest ruler in the history of ‘Vijaya Nagar’ was?
a) Krishnadev | b) Deva Raya- | ¢) Achutadev d) Narasimha Krishnadev
Raya 11 Raya Deva Raya
64 | Guru Gobinda Singh was the son of:
a) Tegh b) Arjan Das | c) Har Gobinda | d) Ram Das Tegh
Bahadur Bahadur
65 | Which of the following stage is the most important for language development?
a) Infancy b) Early ¢) Adolescence | d) Adult stage | b Early
stage childhood or Teen age childhood
stage stage
66 | Presently teaching is:
a) Nation b) Teacher ¢) Culture d) Learner d Learner
centred centered centered centered centered
67 | At primary stage, it is suitable to teach in mother language because it will:
a) helpin b) Help c) Help d) be useful c Help children
national for future children in for identity in learning in
development politics of learning in natural
language natural environment
environment
68 | Kindergarten system of education was contributed by:
a) T.P. Nunn b) Frobel ¢) John Dewey | d) Montessori | b Frobel
69 | Which one of the following is the most important for a teacher?
a) Punctuality | b) Discipline c¢) working d) help d help students
with society students in in solving their
solving their problems
problems
70 | What will you do during leisure time in the school?
a) Check home | b) Watch ¢) Goin d) Discuss a Check home
work of the educational society and with other work of the
students video in discuss social | teachers students
YouTube problems




71 | The main aim of classroom teaching is :
a) To give b) Tohelpin | c) Todevelop | d) To d You are
information | develop the inquiring promote love interested in it
feeling of mind for country
patriotism
72 | The best method of checking students’ home work is:
a) By senior b) By other c) By teachers | d) Self c By teachers
student of the | teachers himself evaluation by himself
school regularly giving answer regularly
key to
students
73 | Teacher can guide students efficiently because:
a) He b) Students c) He dedicate | d) The place a He understands
understands obey him his life for of teacher is students
students society supreme in the psychology
psychology society
74 | Suppose you are working as a teacher in a school and a teacher of the same school is exploiting
some students. What will you do in such situation?
a) Report to b) Guide the ¢) Raise the d) Talktothe |b Guide the
the media teacher for not | issue in parent- | family teacher for not
doing teacher members of doing
exploitation meeting that teacher exploitation
75 Quality of education is measured in a school through:
a) b) Students’ ¢) Manpower, | d) All the d All the above
Infrastructural | performance teachers and above
facility principal
76 Teacher is the most important element in:
a) Pay label b) Job ¢) Student’s d) Pride c Student’s faith
permanence faith
77 | Education became a fundamental right in the year:
a) 2000 b)2002 ¢)2004 d) 2005 b 2002
78 | Which one of the following is the main objective of teaching?
a) To promote | b) To provide | c¢) To make d) Todevelop |d To develop
discipline information to | them capable thinking thinking power




the students to clear power of of students
examination students
79 | An effective teacher in 21* century is one who has:
a) Gets respect | b) Good ¢) Subject d) Knowledge | c Subject
in the society handwriting on | understanding | of online understanding
blackboard and effective education and effective
communication communication
80 | As ateacher, what will you do to meet individual difference among students?
a) Categorize b) Follow strict | ¢) Talk to d) Prepare C Talk to
students in discipline children and notes of children and
different group value their students value their
and label point of view point of view
81 | What action will you take to ensure discipline in the class?
a) Deal b) Give more ¢) Talk to d) Deal with d Deal with them
students home parents and them firmly firmly and
strictly and assignment give them and politely politely
give warning
punishment
82 | Maximum participation of learners is possible in teaching through:
a) Lecture b) Textbook ¢) Traditional d) Discussion | d Discussion
method method method method method
83 | Control on students is possible through:
a) By b) By prize c) By d) By c By
punishment communication | evaluation in communication
exam
84 | If some students complained about you to the principal, then you:
a) Would not b) Would tell ¢) Would call d) Write about | b Would tell the
take notice of | the real children and the situation to real situation to
it situation to the | parents for school the principal
principal clarification manager and
officers
85 | Which one of the following is appropriate with respect to student teacher relationship?
a) Very b) Limited to ¢) Cordial and | d) Indifferent | c Cordial and
informal and classroom respectful respectful
intimate
86 | Which one of the following is the primary agent of socialization?




a) Family b) School ¢) Teachers d) Classmates | a Family

87 | A student comes late in your class. Then you will :
a) Give less b) Try to know | c) Punish d) Inform to b Try to know
mark in the reason him/her guardian the reason
examination

88 | Educational performance of a student can be improved if parents:
a) Interact with | b) Arrange ¢) Call the d) Provide a Interact with
teachers another teacher | teacher for laptop to teachers
frequently for tuition home-tuition student frequently

89 What is full form of NCTE?
a) National b) National ¢) National d) National c National
Commission Criteria of Council for commission of Council for
on Teacher Total Teacher Tribal Teacher
Education Education Education Education Education

90 Gender is related to:
a) Biological b) Social ¢) Physical d) Innate b Social structure
characteristics | structure structure quality

91 | ‘Songs of the Ganga’ was written by:
a) A.K.Meher | b) K.K.Mehero | c) C.K.Mehero | d) R. Tagore A.K.Meherot
otra tra tra ra
92 | Fill in the blank with suitable word:

In the fast-faced world, the sources of entertainment are endless; still many people find

most of the sources____ because of overdose and lack of originality.

a) Haven

b) Hardship

¢) Humdrum

d) Haggard

Humdrum

93

Which of the following is not true?




a) John b) Aphra Behn- | ¢) Alexander d) Isaac Isaac
Webster- The Rover Pope- The Asimov- Asimov-
The Rape of the Rebecca Rebecca
Duchess of Lock
Malfi
94 | ‘The Words in the Mind’ was written by:
a) J. Taylor b) J. Aitchison | c¢) J. Hurford d) M. J. Aitchison
Murphy
95 | Reading strategy follows:
a) Survey, b) Survey, ¢) Survey, d) Survey, Survey,
Question, Recall, Question, Question, Question,
Recall, Question, Read, Review, Read,
Read, Read, Recall, Recall, Recall,
Review Review Review Read Review
96 | Which of the following is not a property of human language?
a) Arbitrarine | b) Productivity | ¢) Distance d) Duality Distance
SS
97 | The English sounds like p, b, t, d, k & g are known as:
a) Affricates b) Plosives ¢) Nasals d) Semi Plosives
Vowels
98 | ‘Free’ is not similar to:
a) Exculpate b) Exonerate ¢) Release d) Outlaw Outlaw
99 | ‘Sound and sense are closely related.” This statement is reflected in:
a) Pooh-Pooh |b) Ding-Dong |c) The Divine |d) Tongue- Ding-Dong
Theory Theory Gift Theory Tied Theory
Theory
100 | ‘Shadow Lines’ was written by:
a) Amitav b) Mulk Raj a) Kamala Das | ¢c) Mahesh Amitav
Ghosh Anand Dattani Ghosh
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B Ed Arts SET A

1 Which of the following is not a Latin Suffix?

a) Artist b) Punishment ¢) Circle d) Scholar A Artist
2 Choose the word which is closest in meaning to the word ‘Besmirch’:

a) Supplicate b) Spurn c) Denigrate d) Ribald C Denigrate
3 Daft decision doesn’t give fruitful results. Here, daft is similar to:

a) Dulcet b) Louche ¢) Asinine d) Euphonious C Asinine
4 She has euphonious voice. In this sentence, euphonious is not related to:

a) Dulcet b) Canorous ¢) Tuneful d) Enigmatical D Enigmatical
5 Hermetic art cannot be understood by many people. In this sentence, hermetic refers to:

a) Scoria b) Delphic c) Deft d) Imbecilic B Delphic
6 ‘Inane’ is similar to:

a) Cryptic b) Tuneless ¢) Cretinous d) Shrill C Cretinous
7 His drawn face indicates his hectic schedule. In this sentence, drawn is associated with:

a) Grey b) Stout ¢) Dogmatic d) Elastic A Grey
8 ‘Dross’ doesn’t mean:

a) Raffle b) Offal ¢) Oafish d) Scrap C Oafish
9 I have never seen such an adamant person in my life. In this sentence, adamant indicates:

a) Tractable b) Froward ¢) Biddable d) Olio B Froward
10 He is not amenable to my thought. In this sentence, amenable means:

a) Refractory b) Obdurate ¢) Lamblike d) Recalcitrant C Lamblike
11 | Mary has three children. What is the probability that none of the three children to be a boy?

a) 12

b) 1/3

c) 3/4

d) 1/8

d

1/8

12

If the code of AGARTALA is written as 14168171, then the code for AGRA will be:




a) 1641 b) 1416 c) 1441 d) 1461 d 1461
13 | Insert the missing number in the following sequence:
3,8,18,23,33,?,48
a) 37 b) 40 c) 38 d) 45 c | 38
14 | Three individuals X, Y, Z hired a car on a sharing basis and paid Rs. 1,040. They used it for 7, 8,
and 11 hours respectively.
What would be the amount paid by Y?
a) Rs. 290 b) Rs. 320 c) Rs. 360 d) Rs. 440 b Rs. 320
15 | What is the smallest number of ducks that could swim in this formation — two ducks in front of a
duck, two ducks
behind a duck and a duck between two ducks?
a)5 b) 7 c)4 d)3 d |3
16 | Kailash Satyarthi has been awarded Noble Prize in the field of:
a) Litrarture b) Science ¢) Medicine d) Peace d Peace
17 | Maldives Islands are situated to the South of of India.
a) Andaman b) Bay of c¢) Russia d)Lakshadwee Lakshadwee
Nicobar Bangal p Islands p Islands
Island
18 | What is the narrow channel of Sea between India and Sri Lanka?
a) Palk Strait b) Hormuz c¢) Bering Strait | d) Sunda Palk Strait
Strait Strait
19 | The earliest kind of print technology was developed in:
a) Sudan b) China ¢) America d) Finland China
20 | The tropic of Cancer does not pass through:
a) Odisha b) Gujrat ¢) Jharkahand | d) West Odisha
Bengal
21 Which of the following is the first Asian country to join NATO’s cyber defence group?

a) India

b) South Korea

¢) Sri Lanka

d) Bangladesh

b

South Korea




22 India’s first ‘Tribal Health Observatory (TriHOb)’" has been announced by:
a) Madhya b) Jharkhand | c¢) Gujarat d) Odisha d Gujarat
Pradesh
23 ‘Millennium Challenge Corporation (MCC)’ is an initiative of:
a) USA b) Russia ¢) China d) Japan a USA
24 Which of the following Union Ministry launched the ‘iDEX’ platform?
a) Ministry of | b) Ministry of | ¢) Ministry of | d) Ministry of ¢ [Ministry of
Education Tourism Defence Law and Defence
Justice
25 Which of the following state is the host of ‘National Conclave on ‘Social Enterprises for Garbage
Free Cities'?
a) Bihar b) Chhattisgarh| c) Odisha d) Gujarat b Chhattisgarh
26 | The concept of Work Study techniques includes:
a) Time study b) Motion c) Fatigue study | d) All of the d All of the
study above above
27 | Which of the following is not a designation related to middle level management?
a) Operations | b) Sales ¢) Chief d) Divisional ¢ | Chief
Head Manager Operating Manager Operating
Officer Officer
28 | The function of management relating to laying down the foundation for carrying out the other
functions of management successfully is known as:
a) planning b) organising | c) stuffing d) controlling a | planning
29 | Subscriptions received in advance during an accounting year is called as :
a) Liability b) Asset c) Expense d) Income a Liability
30 | When did the great depression occur?
a) 1929-39 b) 1934-35 c) 1938-39 d) 1941-42 a 1929-39
31 | Which of the following is the narrow measure of the money supply?
a) M2 b) M3 c) Ml d) M4 c
M1
32 | When was the minimum reserve system started in India?




a) 1947

b) 1948

c) 1951

d) 1956

1956

33 | Culture is the process of developing thoughts, feelings and actions through:
a) Education | b) Training c¢) Society d) Ecology a | Education
34 | Academic Bank of Credits (ABC) is emphasized by:
a) NPE 1986 | b) POA 1992 | c) NEP 2020 d) NCF 2005 ¢ | NEP 2020
35 | Minimizing gender gaps is one of the goals of:
a) Primary b) Secondary | c¢) Higher d) Distance ¢ | Higher
education education education education education
36 | Internationalization of Education is one of the goals of:
a) Higher b) Secondary | c¢) Primary d) Distance a | Higher
education education education education education
37 | M. K. Gandhi was born on :
None is correct: in the option year - last
a) b) <) two digits are transposed.
October4,1896 | October4,1869 | October2,1896 | October2,1796 October2,189
6
38 | Integral Education was propounded by:
a) S. b) Aurobindo |c¢)J. d) Annie b | Aurobindo
Radhakrishnan | Ghosh Krishnamurti Besant Ghosh
39 | One of the targets of NEP 2020 is to achieve 100% Gross Enrollment Ratio (GER) in
school education by the year:
a) 2025 b) 2030 c) 2035 d) 2040 b |2030
40 | Horse latitude is:
a) 5 -10 degree b) 10-23.5 ¢) 30-35 degree | d) 33.5-66.55 C 30-35 degree

latitude

degree latitude

latitude

degree latitude

latitude




41 | Which of the following river of Africa does cross the equator line two times?
a) Kango ‘ b) Nile | ¢) Limpopo | d) Zambezi | a | Kango
42 | ‘Arakan Yoma’ mountain is situated in:
a) China b) Bangladesh | ¢) Myanmar d) Taiwan C Myanmar
43 | ‘Addis Ababa’ is the capital of:
a) Ethiopia b) Kenya c) Nigeria | d) Uganda Ethiopia
44 | ‘Bushman’ tribe is found in:
a) Kango Basin | b) Kalahari ¢) Amazon d) North b Kalahari
Dessert Basin Canada Dessert
45 | Which one of the followings is India’s oldest mountain range?
a) Arawali ‘ b) Satpurha | ¢) Vindhyan | d) Parasnath | a | Arawali
46 | ‘Manas’ national park is situated in:
a) Assam b) Arunachal ¢) Mizoram d) Meghalaya a Assam
Pradesh
47 | ‘Vishakhapatnam’ port is situated in:
a) Gujarat b) Andhra ¢) Maharashtra d) Odisha b Andhra
Pradesh Pradesh
48 | What is the composition of Oxygen in our atmosphere?
a) 17% | b) 19% | ©)21% | )29 % | ¢ |21%
49 | The word 'Veda' has been derived from the root word 'Vid' which means:
a) Knowledge a) Sacredness b) Doctrine c) Divinity | a Knowledge
50 | Mrichchhakatika was written by:
a)Akbar b) Sudrak c)Kalidas d) Banabhatta| b Sudrak
51 | During Alexander’s invasion to India, Taxila was ruled by:
a) Ambhi b) Porus c) Ashoka d) Bimbisara a | Ambhi

52

Who of the following is known as ‘Vikramaditya’ in the Indian history?




a) b) c) d) Chandragupta
Chandragupt Samudragup| Chandragupt Skandagupt -II
a-1 ta a-I1 a
53 | What was the name of mother of the Goutam Buddha?
a) Trisala b) Goutami ¢) Mayadevi d) Sardadevi Mayadevi
54 | Kanishika belongs to:
a) Vikram era | b) Satavahan | c¢) Saka era d) Gupta era Saka era
era
55 | The greatest ruler in the history of ‘Vijaya Nagar’ was?
a) Krishnadev | b) Deva Raya- | c) Achutadev d) Narasimha Krishnadev
Raya 1T Raya Deva Raya
56 | Guru Gobinda Singh was the son of:
a) Tegh b) Arjan Das | c) Har Gobinda | d) Ram Das Tegh
Bahadur Bahadur
57 | Which of the following constitutional amendment has added the word ‘Secular’?
a) 42 b) 43" c) 44" d) 45" a 42"
Amendment Amendme Amendmen Amendment Amendme
nt t nt
58 | The Constitution of India derives its ultimate authority from:
a) People of India | b) President ¢) The Prime d) Supreme a a) People of
of India Minister Court of India
India
59 | The Council of Ministers are collectively responsible to:
a) Lok Sabha b) The ¢) The Prime d) Rajya Sabha | a Lok Sabha
President Minister
60 | Which one of the following word is not the part of Indian Constitutional Preamble?
a) Equality b) Liberty ¢) Nationalism | d) Justice C Nationalism
61 | The President’s term of office is:
a) Three Years | b) four years | c) Five years | d) Six years | c ‘ Five years
62 | Which one of the following languages is not part of Eighth Schedule of Indian Constitution?
a) Nepalese | b) Assamese | ¢) Santhali | d) Naga | d ‘ Naga
63 | The book “Grammar of Politics” was written by:
a) John Dewey | b) Harold J. | ¢) John Locke | d) Aristotle | b ‘ Harold J.




Laski Laski
64 | The Idea of Deconstruction is associated with:
a) Michel b) Coral Bell | ¢) T.H Green | d)Jacques d
Foucault Derrida Jacques
Derrida
65 | Which one of the following is the main objective of teaching?
a) To promote | b) To provide | c¢) To make d) Todevelop |d To develop
discipline information to | them capable thinking thinking power
the students to clear power of of students
examination students
66 An effective teacher in 21* century is one who has:
a) Gets respect | b) Good ¢) Subject d) Knowledge | c Subject
in the society handwriting on | understanding | of online understanding
blackboard and effective education and effective
communication communication
67 | As ateacher, what will you do to meet individual difference among students?
a) Categorize b) Follow strict | ¢) Talk to d) Prepare c Talk to
students in discipline children and notes of children and
different group value their students value their
and label point of view point of view
68 | What action will you take to ensure discipline in the class?
a) Deal b) Give more ¢) Talk to d) Deal with d Deal with them
students home parents and them firmly firmly and
strictly and assignment give them and politely politely
give warning
punishment
69 | Maximum participation of learners is possible in teaching through:
a) Lecture b) Textbook ¢) Traditional d) Discussion | d Discussion
method method method method method
70 | Control on students is possible through:
a) By b) By prize c) By d) By c By
punishment communication | evaluation in communication
exam
71 | If some students complained about you to the principal, then you:
a) Would not b) Would tell ¢) Would call d) Write about | b Would tell the
take notice of | the real children and the situation to real situation to
it situation to the | parents for school the principal

principal

clarification

manager and




officers

72 | Which one of the following is appropriate with respect to student teacher relationship?
a) Very b) Limited to ¢) Cordial and | d) Indifferent | c Cordial and
informal and classroom respectful respectful
intimate

73 | Which one of the following is the primary agent of socialization?
a) Family b) School ¢) Teachers d) Classmates | a Family

74 | A student comes late in your class. Then you will :
a) Give less b) Try to know | c) Punish d) Inform to b Try to know
mark in the reason him/her guardian the reason
examination

75 | Educational performance of a student can be improved if parents:
a) Interact with | b) Arrange ¢) Call the d) Provide a Interact with
teachers another teacher | teacher for laptop to teachers
frequently for tuition home-tuition student frequently

76 What is full form of NCTE?
a) National b) National ¢) National d) National c National
Commission Criteria of Council for commission of Council for
on Teacher Total Teacher Tribal Teacher
Education Education Education Education Education

77 | Gender is related to:
a) Biological b) Social ¢) Physical d) Innate b Social structure
characteristics | structure structure quality

78 | Which of the following stage is the most important for language development?
a) Infancy b) Early c) Adolescence | d) Adultstage | b Early
stage childhood or Teen age childhood

stage stage

79 | Presently teaching is:
a) Nation b) Teacher ¢) Culture d) Learner d Learner
centred centered centered centered centered

80 | At primary stage, it is suitable to teach in mother language because it will:
a) help in b) Help c) Help d) be useful c Help children
national for future children in for identity in learning in




development politics of learning in natural
language natural environment
environment
81 | Kindergarten system of education was contributed by:
a) T.P. Nunn b) Frobel ¢) John Dewey | d) Montessori | b Frobel
82 | Which one of the following is the most important for a teacher?
a) Punctuality | b) Discipline c¢) working d) help d help students
with society students in in solving their
solving their problems
problems
83 | What will you do during leisure time in the school?
a) Check home | b) Watch ¢) Goin d) Discuss a Check home
work of the educational society and with other work of the
students video in discuss social | teachers students
YouTube problems
84 | The main aim of classroom teaching is :
a) To give b) To help in c) To develop | d) To promote | d You are
information develop the inquiring mind | love for interested in it
feeling of country
patriotism
85 | The best method of checking students’ home work is:
a) By senior b) By other c) By teachers | d) Self c By teachers
student of the | teachers himself evaluation by himself
school regularly giving answer regularly
key to
students
86 | Teacher can guide students efficiently because:
a) He b) Students ¢) He dedicate | d) The place a He understands
understands obey him his life for of teacher is students
students society supreme in the psychology
psychology society
87 | Suppose you are working as a teacher in a school and a teacher of the same school is exploiting
some students. What will you do in such situation?
a) Report to b) Guide the ¢) Raise the d) Talktothe |b Guide the
the media teacher for not | issue in parent- | family teacher for not
doing teacher members of doing
exploitation meeting that teacher exploitation
88 | Quality of education is measured in a school through:
a) b) Students’ ¢) Manpower, | d) All the d All the above
Infrastructural | performance teachers and above




facility principal
89 Teacher is the most important element in:
a) Pay label b) Job ¢) Student’s d) Pride c Student’s faith
permanence faith
90 | Education became a fundamental right in the year:
a) 2000 | £)2002 | ©)2004 | d) 2005 E | 2002
91 | ‘Songs of the Ganga’ was written by:
a) A.K.Meher |b) K.K.Mehero | c) C.K.Mehero | d) R. Tagore A.K.Meherot
otra tra tra ra
92 | Fill in the blank with suitable word:
In the fast-faced world, the sources of entertainment are endless; still many people find
most of the sources___ because of overdose and lack of originality.
a) Haven b) Hardship ¢) Humdrum d) Haggard Humdrum
93 | Which of the following is not true?
a) John b) Aphra Behn- | ¢) Alexander d) Isaac Isaac
Webster- The Rover Pope- The Asimov- Asimov-
The Rape of the Rebecca Rebecca
Duchess of Lock
Malfi
94 | ‘The Words in the Mind’ was written by:
a) J. Taylor b) J. Aitchison | ¢) J. Hurford d) M. J. Aitchison
Murphy
95 | Reading strategy follows:
a) Survey, b) Survey, c) Survey, d) Survey, C | Survey,
Question, Recall, Question, Question, Question,
Recall, Question, Read, Review, Read,
Read, Read, Recall, Recall, Recall,
Review Review Review Read Review

96

‘Free’ is not similar to:




a) Exculpate b) Exonerate ¢) Release d) Outlaw Outlaw
97 | ‘Sound and sense are closely related.” This statement is reflected in:
a) Pooh-Pooh |b) Ding-Dong |c¢) The Divine |d) Tongue- Ding-Dong
Theory Theory Gift Theory Tied Theory
Theory
98 | ‘Shadow Lines’ was written by:
a) Amitav b) Mulk Raj a) Kamala Das | ¢c) Mahesh Amitav
Ghosh Anand Dattani Ghosh
99 | Which of the following is not a property of human language?
a) Arbitrarine | b) Productivity | c¢) Distance d) Duality Distance
SS
10 | The English sounds like p, b, t, d, k & g are known as:
0
a) Affricates b) Plosives ¢) Nasals d) Semi Plosives
Vowels
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